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Note : Answer questions from all the Sections as 

per instructions. 

Section—A 

Note :  Answer any two questions from this 

Section in about 600 words each. 

2×20=40 

1. Derive the growth equation for 'per capita 

output'. Specify the conditions under which 

higher per capita output can be realized.  
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2. Discuss the consequences of monopsony 

power in the input market of healthcare 

sector.    

3. State the assumptions of Solow Growth 

Model. Show that 'Growth of Capital per 

unit of Labour' in the long-run, is 

exogeneous.  

4. Explain how the PPP models work in the 

financing of educational programmes. Also, 

analyze the trends in the public financing  

of education in India over the period  

1980-2012.   

Section—B 

Note :  Answer any four questions from this 

Section in about 350 words each. 

4×12=48 

5. Explore the causality between Health and 

Poverty.    
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6. Delineate the four characteristics of 

healthcare services.  

7. Distinguish between 'Economies of Scale' 

and 'Economy of Scope' in the context  

of market for supply of healthcare  

services.  

8. Define the concept of Health Insurance.  

9. Outline the concept of 'Universal 

Healthcare'.  

10. State the steps involved in the measurement 

of 'health inequity'.  

11. With the help of a graph, explain  

the concept of 'Social demand for  

education'.  
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Section—C 

Note : Write short notes on any two of the 

following in about 100-150 words  

each.  2×6=12 

12. (a) Net Enrolment Ratio 

 (b) Coefficient of Efficiency 

 (c) Human Capital 

 (d) Rate of Returns Approach 
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 BECE–141 

ch- ,- (vkWulZ) vFkZ'kkL= 

(ch-,-bZ-lh-,p-)  

l=kar ijh{kk  

twu] 2025 

ch-bZ-lh-bZ-&141 % LokLF; ,oa f'k{kk dk vFkZ'kkL= 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % lHkh [k.Mksa esa ls iz'uksa ds mÙkj funsZ'kkuqlkj nhft,A 

[k.Mµv 

uksV % bl [k.M ls fdUgha nks iz'uksa ds mÙkj yxHkx 600 'kCnksa 

(izR;sd) esa nhft,A 2×20=40 

1- ^izfr O;fDr mRiknu* ds fy, lao`f¼ lehdj.k O;qiUu 

dhft,A os fLFkfr;k¡ fufnZ"V dhft,] ftuds vUrxZr izfr 

O;fDr mPp mRiknu izkIr fd;k tk ldrk gSA  
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2- LokLF; lsok {ks= ds lk/ku cktkj esa Øsrk ,dkf/kdkj 

'kfDr ds ifj.kkeksa ij ppkZ dhft,A  

3- lksyks lao`f¼ izfreku dh ekU;rk,¡ crkb,A n'kkZb;s fd 

nh?kZdky esa Je dh izfr bdkbZ iw¡th lao`f¼ cfgtkZr gSA 

4- 'kSf{kd dk;ZØeksa ds foÙkh;u esa jktdh;&futh& 

lk>snkjh (PPP) izfrn'kZ dSls dk;Z djrk gS] Li"V 

dhft,A le;kof/k 1980&2012 ds nkSjku Hkkjr esa f'k{kk 

ds yksd foÙkh;u esa #>kuksa dk fo'ys"k.k Hkh dhft,A  

 [k.Mµc 

uksV % bl [k.M ls fdUgha pkj iz'uksa ds mÙkj yxHkx  

350 'kCnksa (izR;sd) esa nhft,A 4×12=48 

5- LokLF; ,oa fu/kZurk ds chp dkj.krk dk irk  

yxkb,A 
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6- LokLF; lsok {ks= dh pkj fo'ks"krkvkas dk o.kZu  

dhft,A 

7- LokLF; lsokvksa dh vkiwfrZ ds fy, cktkj ds lanHkZ esa 

^iSekus dh ferO;;rk* vkSj ^forku dh ferO;;rk* dh 

vo/kkj.kkvksa ds chp varj dhft,A 

8- LokLF; chek dh vo/kkj.kk dks ifjHkkf"kr  

dhft,A   

9- ^loZO;kih LokLF; lsok* dh vo/kkj.kk dks js[kkafdr 

dhft,A 

10- ^LokLF; vlekurk* ds ekiu esa 'kkfey pj.kksa dk o.kZu 

dhft,A 

11- ,d vkjs[k dh lgk;rk ls ^f'k{kk ds fy, lkekftd ek¡x* 

dh vo/kkj.kk dks Li"V dhft,A 
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 [k.M&l 

uksV %  bl [k.M esa ls fdUgha nks ij yxHkx 100&150 'kCnksa esa 

laf{kIr fVIif.k;k¡ fyf[k,A 2×6=12 

12- (v) 'kq¼ ukekadu vuqikr 

 (c) n{krk dk xq.kkad 

 (l) ekuo iw¡th 

 (n) izfrQy n`f"Vdks.k dh nj 

× × × × × 

 

 

 

 

 

 


